Maths beginning 30th March, Year 5 Extension
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How many different ways can you Possible answers:
complete the part-whole model using
fractions and decimals? 50

100
() :
2
() e

Create another part-whole model like the
one above for your partner to complete.
There are various

Now complete the following part-whole possible answers
models using fractions and decimals._ | yhen completing

the part-whole
models. Ensure
both fractions and
decimals are
represented.
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I Use the models to record equivalent decimals and fractions.

3 30
I 03=1% = 10
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¥ Wiite down the value of a, b, ¢ and d as a decimal and a fraction.
a bc
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" Complete the table.

Trevere
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225=2ones, 2 tenths and 5 Possible answer:

hundredths. Children may
represent it in

Can you write the following numbersin | words, decimals,
at least three different ways?

fractions,
expanded form
but also by
partitioning the
number in
different ways

Amir says, (" To convert a fraction to a Possible answers

el Eeti could include -~
numerator and put it ‘ i
after the decimal point. is not equal to O
Eg 15 =021

Write two examples of converting
fractions to decimals to prove this does
not always work.
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Rosie thinks the 2 values are equal. Agree.

o&&=

Do you agree?
Explain your thinking.

We can exchange
ten hundredth
counters for one
tenth counter.

135
0135 = =

Can you write this amount as a decimal
and as a fraction?
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0472 = 4 tenths,
seven hundredths
and 2 thousandths

4.7 2
+ =t
= 3tenths, 9 hundredths and 4 Zin" A du
thousandths SRS
0002
R N 0529 = 5 tenths,
100 7 1000 two hundredths
_ and 9 thousandths
=03+ 009 + 0004 P
FrETT
) bere i three i —=05+002
Write these numbers in three different 0009

ways:
0.307 = 3 tenths

0472 [0529 | [ 0307 | and 7 thousandths
3 7

=10 000 =

0.3 +0.007
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Use the digits 3, 4 and 5 to complete the | 30.45, 30,54,
decimal number. 40.35,4053,

o0

List all the possible numbers you can
make.

Write these decimals as mixed numbers. | 30 = 30 ==,
100 30 109

Choose three of the numbers and write | 40 == 40 =%,
: oo *Y 700
them in words.

43 34
50 003 50 o0
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Dexter says there is only one way to 062=012+05

partition 0.62
062=04+022
062=03+032
062=042+02
062=01+ 052
062 =003 + 059
etc.

Prove Dexter is incorrect by finding at

least three different ways of partitioning
062
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Match each description to the correct Teddy - 40.46

number. Amir - 46.2
Rosie - 46.02
My number has the same. @ Eva - 264
amount of tens and tenths. i)

Teddy

My number has one
decimal place.

My number has two
hundredths.

Rosie

—
My number has six tenths.
o

462 264 4602 || 40.46





image3.tmp
0Odd one out Possible answer:

Bis the odd one
Which of the images below is the odd out because it

one out?

A
O
0

shows 2, whichis
4
or04

The other images
showZ0r 02

ezt ee

Explain why.




